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® (3x2+2) (x+1)(x+1) @ (3x2+3) (x+1)(x-1)
@(3x2+2)(x+1)(x—1)
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A=x*2 %5t
(F£4]) =342 -A-2
=(34+2)(A-1)

(3x2+2) (x+1) (x—1)
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O P®+x+1,1 @x2+x+1,2

® 2x*+2x+2, 1 @ 2x2 +2x+2, 2

® 4x®+4x+4, 4

O3 2% + % +x+ 18 20 - 1 2 YE 5T UHAE 42
Q(x), RolZtaL oFH 2x3 + x> + x+1 = (2x-1)Q(x) + R
:(x—%>~2Q(x)+R

SIh=R=]
1
- 12 1 1 1
2
1 1 1
2 2 212
20(x) = 2x% + 2x + 2

L O0(x)=x*4+x+1, R=2




4. (1252 - 752) = (5 + (30 - 50) + (—4)} 2] 22

@® 75 @ 125 ® 900 @ 1000 ® 1225

B

1252 — 752 = (125 + 75)(125 — 75)
= 200 x 50 = 10000
20
5+ (30-50) + (~4) =5+ ~— =10

(% 4)= 10000 + 10 = 1000
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Q-1 @0 @ 1 ® 2
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x)3-13 = (2x— 1) (4x% + 2x + 1)
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M3 44 = (24 x4+ 2) (P +ax+b) D W, AF @b
T-shelet,

> E:
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(F W) = (2 +2)2-x2

= (P +x+2)(x*-x+2)
ca=-1,b=2
sab=-1x2=-2
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x2— 2x—y2 + 2y

=(** -y -2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x— by +¢)
Al4E vl stH

a=-1,b=-1,c=-2
Lat+b+c=-1-1-2=-4
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AP 3xt =52 +4x = TZ 02 AR WEIE Y Fro] # - 20]1
YA 7F 4x - 52 W, o]3H4 AE F-5HA?

D 3x2-2 @ 3x2-1 ® 3x2
@3x2—|—1 ® 3x2+2

HAA D 3xt —Bx? +4x—T=A(x*-2) +4x—5

3xt - 5x% - 2 )




@ -21 @ -15 ® -5 @ -1 @0

B

(1+ 2x + 3x2 + 4x 4 5x%)3 ©] Z7|A] o]l A]
O] Ag 29 Agets AL etk

kA (1 + 2x + 3x2 + 4x3)3 o] AA A A x3 9] A5} (1 +
2x + 3x% 4 4x® + 5x%)3 O] A A x3 ] AGE 2

~a=b .. a-b=0




11, oA 2% +ax-8 & x? +dx+ b= Uw UH A7} 3x + 40]th. A
a, b®| gk& FSHH?

@a:—lo,b:3 @ a=10,b=3
® a=-10, b=-3 @ a=7,b=3
® a=-5b=4

B ~
HE x4 =0d

¥ +ax—8=(x>+4x+b)(x+c)+3x+4

oA A% ¢ ¢+ 4 =0 ¢ = -4

A bet+4=-8NA b=3

ARG AlG tde+b+3=a% M a=-10




12. (P -x*-2x+1) =ap+a1(x—1) +ax(x—-1)2+-- +aj5(x—- 1)
A o, ap + as + as + -+ + a4 & F= FStoft

> E

> HE: 1

€8 ~
G x =02 HYsHH

=a—ar+az---ap; QD

o] x =28 didstA

l=ay+a+az+--+as --©

O+0=3t4

2=2(ap +as+ -+ as)°lth

Lagtazt-orag=1

o =




ol BE THEAD 6 4 ko 4 k- 18 x - 28 WHR9lS ue] St
oIS 04 (x), Ry, v+22 S Te] S oA E 0, (x), Ry

gt &, Ry = Ry & UESte A k9 gk F-5Hd?

¥tk +kx—1=(x-2)01(x) + Ry

= (x+2)02(x) + Rz
x=2HY, Ry =8+ 4k+2k-1=6k+7
x=-2HYU Ry =-8+4k—-2k-1=2k-9
Ri =Ry9|B2 6k+7=2k-9
Sok=-4




14, oga el deted, 7(5) =8 r(3) =12 50 8

(2x - 1) (3x - 1) 2 W& YA E LA L,
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> ®ehl 12x-3

B

T3t YHAIE ax + b2t 5h4
F(x)=2x-1)Bx-1)0(x) +ax+b

2 72t ool T st

1 1 1 1
= dgdtd EH %a=2=>a=12,b:—3
s ohE A= 120 - 3

1,




15, xof gt o4 x3 +2x2 —ax + b7t x% + x -2 2 Yol Eojd uj,
a® + b% 9] & Asto=t

cCh -
="

>
> ®™et: 5

od -

D ‘
fx)=x*+2x> —ax+b= (x> +x-2)0(x)
= (x+2)(x-1)Q(x)
Aol ol x = -2, x = 12 st Fo] 0 o] Hrt,
L f(=2)=-8+48+2a+b=0
1+2-a+b=0AH5H, a=1,b=-2




O -10 @ 10 ® 50 @100 ® 200

a(x=13+b(x-1)2+c(x-1)+d

=(x-Dfa(x—1)2+b(x-1)+c}+d
=(x-1D[(x-Dia(x—1)+b}+c]+d
oA B3+ 2x2 -3x+5 B x-1 2 AK0

AL 2 U o o+
U271 &MU d, ¢, b 7} 52 apx]ete] Fo] ¢ o]},

a=1,b=5¢c=4,d=5
.. abed = 100




17. & 5 (x+1)° -89 9] A5 222

2
@ x* - 2xy - 4y? @ x*-2xy+4y* O x*+2xy+4)?

@ x? —4xy—Ty? (@>x2 + dxy + Ty?




18. a(b? - c?) + b(c? - a®) + c(a® - b*) & Ag==olstH?

@® —(a=b)(b-c)(c-a) @ (a=b)(b-c)(a-c)
® —(b-a)(b-c)(c—a) @) (a-b)b-c)c-a)
® (a=b)(b-c)(c+a)

8

(FA) = (¢~ b)a® + (b* = *)a+ be(c - b)
= (c—b){a® - (c + b)a + bc}
=(c=b)(a-b)(a-c)
=(a=-b)(b-c)(c—a)
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19. AZOE A A x, y, 2o ot 18 +y% + 22 = 3xyz & ST o,
x+y+z9 @27

@o @ 1 ® 2 @ 3 ® 4

2+ 33+ 23 - 3xyz
=(x+y+2)(*FP+y*+22-xy-yz—zx) =0
(x+y+2)=0F=2+y*+22-xy-yz-2zx=0

1
Lty +z=0FE S{(x-))’+ (-2’ + -2 =0
Jd8Y x, y, z 7V AR GE A AF(x#y£2) O|BEZ
x+y+z=0




20. a. b, c7F AP O] A] Ble] Aol Z Lehd W, a2(b—c) + b3 (c—a) +
il o]

(a-b) = 0 WE3H= A7+ ABCE of® 4291712
@ B=120°A 4447 © AZGAAH
® B=150°% EZ447Y  (@)ol5Hd7Y

® (A =35°% A7ty

B

a’*b - a*c + b*c — b%a + c*a - c?b
=a?(b-c)+a(c+b)(c—b)+bc(b-c)
(b-c){a®+ (c+b)a+ bc}

= (b=c)(a+b)(a+c)
wb=c(ra+b#0, at+c#0)




21.

7k29] 2017} xem, A 28] 2017}y em, 017} zem A A5 AA o] A

x+y+z=10, x2 +y?> +72 =464 0, o] ALHA| ] Aylol=
cm? Q1712

@ 45cm? @ 50 cm?2 @54 om?
@ 58cm? ® 60 cm?




[a, b, c]=a(b?*-c*) D W, [a, b, ]+ [b, ¢, a] + [c, a, b] <]

A7
@a—b @ b+tec ® c+a
@ a+b+c ® abc

B

[a, b, c|+[b, ¢, a]l + [c, a, b]

= a(b? - c?) + b(c? — a®) + c(a® - b?)
= ab? — ac® + bc? — ba® + ca® - cb?
=a?(c—b) —a(c®> = b*) + be(c - b)

= (c - b){a® - a(c + b) + bc}

— (c—b)a—b)(a—c)




23. x+y-1=0¥ o, o} F 2x% +y? —xy — 8 9] 212l

® x-1 @x—i—l

@ 4x+5 ® 4x+7

B

x+y-1=091"y=-x+1

so2x2 4y —xy-8

=2x + (—x+1)? = x(-x+1) -8
=4x2-3x-7

— (4x—T)(x+ 1)




24. a= V4 b+c= V1L W, a® +b° + 3 + 3abc O] S Fotofe
B
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|> Hek: g

od -

B

a= VX a®=4---9
b+c=3VioNA (b+c)? =4
Z b3+ 2 +3bc(b+c) = 4
b+c=a%B2

b+ +3abc=4---©O
O+0O0=73st4

a4+ b3 +c3+3abc=4+4=38




25.

2.2 2.2 | 2.2 2.2 2.2 | 722
bx(a®x* + 2a%y? + b%y?) +ay(ax +2b°x +b)’)% 7Heka)
bx + ay bx + ay
HY
D a?x? 4 b?y? @(ax+by)2
® (bx + ay)? @ 2(a’x* + b%?)

® (ax+ by)(bx + ay)

B

(A= bx(a®x? + 2a%y* + b*y?) + ay(a®x* + 2b°x* + b*y?)
= bx(a®x? + b%y?) + 2a*bxy?* + ay(a®x? + b*y?) + 2ab*x?y
= (a®x? + b%y?)(bx + ay) + 2abxy(ay + bx)

= (bx + ay)(a*x? + 2abxy + b?y?)

= (bx + ay)(ax + by)?

mHebA], (= A= (ax + by)?




